| RecoAssoc2GenPVMatched Pt2 | [ RecoAssoc2GenPVMatchedNotHighest_Pt2

Reco vertices matched to gen PV

1.U0

Rati®keco non-PV-vertices matched to gen PV

Ratio

0.95

102 10° 0*
S p? (Ge
—a— DQM_CKF-test_1000evt
—o— DQM_CKFREFit-test_1000evt

| RecoAssoc2GenPVl . pOM mkFitREFit-test_1000evt
—— DOM_NANTEST 10006vt

[
o
w

10°

10?

=
o
oS

=
o

Reco vertices not matched to gen PV
Reco vertices not matched to gen PV,

H

iR
T
iR
I

V.J0 V.J0

T ””:::;3 — 4 e 3 o
10 10 S p? (Gevg-’)O S p? (G%Q/Z), gen PV %r%cks removeltp



	Contents
	Page 1


